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13. a) 250+ — [250= 275lei.
10C
b) Preul final este:250+80=330lei.
X 11x 4155 . .
275+ —[275=330= e =55=>x = ETE = Xx=20%, deci produsul s-a scumpit cu 20%.
14.a) f(0)=-1= A(0;-D); f()=0=B(L 0). g(0)=3=C(0;3); g)=1=D LY.
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b)G; NGy ={M}= f(X) =g(X) > x-1=3-2x= x:g: f(g):g[?ij:?%jM[_S;_Sj'

_COIOE MFI[BE 13

Acoem = Acoe ~ Peem = 5 2 ,unde MF JOX si E(%;O}.ACOBM :E.

a-1 3-2ala-1 Fa|a-
= = =3-2a|l=> 3 a0 {1 J=al{; 2}.
3-2a dar3-a |3 2 3Fajls a
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c)

15.b) V,, = =864cm>.

(VBC) n (ABC)=BC
o OM BC, OM [ (ABC)
VM OBC, VM O (VBC)
OM nVM ={M}, M OBC
d) Dad Aat.r.pir. = T30 Ayt pirvasco = Aatpirvasc = 29% 1 Ayt pirvasco =

N Avatpirvascp _ 1 _ K2 YO _ :%:VO'zOOEV—? =3.

'61 at. pir VABCD 4 VO

= ((VBC),(ABC)) =VMO = m(VMO) = 30°



